
CHEMISTRY

BOOKS - JMD CHEMISTRY (PUNJABI

ENGLISH)

CO-ORDINATION COMPOUNDS

Example

1. The correct structure of  isFe(CO)5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bVSyVL6ZHf9O


A. octahedral

B. tetrahedral

C. square pyramidal

D. trigonal bipyramidal

Answer: A

Watch Video Solution

2. Which of the following has magnesium?

A. ChlorophyII

https://dl.doubtnut.com/l/_bVSyVL6ZHf9O
https://dl.doubtnut.com/l/_hOeq9iR2YMEL


B. Haemocyanin

C. Carbonic anhydrase

D. Vitamin B_12

Answer: A

Watch Video Solution

3. Which of the following shall form an

octahedral complex?

A.  (low spin)d4

https://dl.doubtnut.com/l/_hOeq9iR2YMEL
https://dl.doubtnut.com/l/_Ob9bHdCqUWgZ


B. d^8` (high spin)

C.  (low spin)

D. all of these

Answer: C

Watch Video Solution

d6

4.  is a

A. double salt

B. complex compound

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_Ob9bHdCqUWgZ
https://dl.doubtnut.com/l/_uHT5gyY8AkFR


C. neutral molecule

D. none of these

Answer: B

Watch Video Solution

5. The oxidation state of  in the complex 

 is _____

A. 1

B. 3

Cr

[Cr(H2O)4Cl2]
+

https://dl.doubtnut.com/l/_uHT5gyY8AkFR
https://dl.doubtnut.com/l/_PAh9txYYqnqo


C. 5

D. 6

Answer: B

Watch Video Solution

6. Which of the following is expected to be a

paramagnetic complex?

A. 

B. 

[Ni(H2O)6]
2 +

[Ni(CO)4]

https://dl.doubtnut.com/l/_PAh9txYYqnqo
https://dl.doubtnut.com/l/_mi8lndUIKwM7


C. 

D. 

Answer: A

Watch Video Solution

[Zn(NH3)4]
2 +

[Co(NH3)6]
3 +

7.  is paramagnetic in nature

due to

A. one unpaired electron

B. two unpaired electrons

[Ti(H2O)6]3 +

https://dl.doubtnut.com/l/_mi8lndUIKwM7
https://dl.doubtnut.com/l/_4oyehpifB3Ss


C. three unpaired electrons

D. no unpaired electrons

Answer: A

Watch Video Solution

8. The number of unpaired electron in

is

A. 0

B. 1

[Ni(CO)2]

https://dl.doubtnut.com/l/_4oyehpifB3Ss
https://dl.doubtnut.com/l/_qQ7dWLhYNqh0


C. 3

D. 4

Answer: A

Watch Video Solution

9. The species having tetrahedral shape is:

A. 

B. 

C. 

[PdCl4]2 −

[Ni(CN)4]
2 −

[Pd(CN)4]
2 −

https://dl.doubtnut.com/l/_qQ7dWLhYNqh0
https://dl.doubtnut.com/l/_DVyqo9ZtlH2G


D. .

Answer: D

Watch Video Solution

[NiCl4]2 −

10. Which of the following forms with an

excess of ions, a complex having co-

ordination number two?

A. 

B. 

CN −

Cu+

Ag+

https://dl.doubtnut.com/l/_DVyqo9ZtlH2G
https://dl.doubtnut.com/l/_ztAq5PmArGD6


C. 

D. 

Answer: B

Watch Video Solution

Ni2 +

Fe2 +

11. The oxidation number of cobalt in

 is

A. 1

B. -1

K[Co(CO)4]

https://dl.doubtnut.com/l/_ztAq5PmArGD6
https://dl.doubtnut.com/l/_veoVZTU4SJPK


C. 3

D. -3

Answer: B

Watch Video Solution

12. Vitamine  contains

A. 

B. 

C. 

B12

Fe

Co

Zn

https://dl.doubtnut.com/l/_veoVZTU4SJPK
https://dl.doubtnut.com/l/_ubRyAj8dZqa2


D. 

Answer: B

Watch Video Solution

Ca

13. Write the IUPAC name of

.

A. potassium pentacyanonitrosy1-ferrare

(II)

B. potassium pentacyanonitrile(II)

K3[Fe(CN)5NO]

https://dl.doubtnut.com/l/_ubRyAj8dZqa2
https://dl.doubtnut.com/l/_VtvDAKw2ES5f


C. potassium pentacyanonitrosyl-ferrate(III)

D. None of these

Answer: A

Watch Video Solution

14. Write the I.U.P.A.C. name of the

.

A. triamminedichloridonitrito-N-cobalt(III)

B. dichlorotriamminenitrito-N-cobalt(III)

[Co(NH3)3Cl2(NO2)]

https://dl.doubtnut.com/l/_VtvDAKw2ES5f
https://dl.doubtnut.com/l/_wDlBIrtgAhoS


C. dichlorotriamminenitrito-N-cobalt(II)

D. None of these

Answer: A

Watch Video Solution

15. Write the IUPAC name of .

A. potassium tetracyanonickelate(II)

B. potassium tetracyanonickelate(III)

C. potassium tetracyanonickelate(0)

K2[Ni(CN)4]

https://dl.doubtnut.com/l/_wDlBIrtgAhoS
https://dl.doubtnut.com/l/_lUuyEikxepRK


D. None of these

Answer: A

Watch Video Solution

16. The correct IUPAC name of 

is:

A. diamminedichloridoplatinum(II)

B. diamminedichloridoplatinum(IV)

C. diamminedichloridoplatinum(0)

[Pt(NH3)2Cl2]

https://dl.doubtnut.com/l/_lUuyEikxepRK
https://dl.doubtnut.com/l/_1cMMhRVRaOsO


D. chloridodiammineplatinum(IV)

Answer:

Watch Video Solution

17. In which of the following complexes, the

metal ion is in zero oxidation state ?

A. 

B. 

C. 

Mn(CO)4

Zn2[Fe(CN)6]

[Cu(NH3)4]Cl2

https://dl.doubtnut.com/l/_1cMMhRVRaOsO
https://dl.doubtnut.com/l/_3OciRbDT0AWR


D. 

Answer: A

Watch Video Solution

[Ag(NH3)2]Cl

18. The oxidation number of iron in

 is :

A. 

B. 

C. 

K4[Fe(CN)6]

+1

+2

+3

https://dl.doubtnut.com/l/_3OciRbDT0AWR
https://dl.doubtnut.com/l/_tihDTj3XkTFO


D. Zero

Answer: B

Watch Video Solution

19. Vitamine  contains

A. 

B. 

C. 

D. 

B12

Cu

Co

Fe

Ni

https://dl.doubtnut.com/l/_tihDTj3XkTFO
https://dl.doubtnut.com/l/_TeCKxujh92nU


Answer: B

Watch Video Solution

20. Chlorophyll contains

A. 

B. 

C. 

D. 

Answer: B

Co

Mg

Fe

Ni

https://dl.doubtnut.com/l/_TeCKxujh92nU
https://dl.doubtnut.com/l/_T5PLcCAejv1g


Watch Video Solution

21. Haemoglobin contains:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cu

Co

Fe

Ni

https://dl.doubtnut.com/l/_T5PLcCAejv1g
https://dl.doubtnut.com/l/_WHeLEmQoffqE


22. The O.S. of Ni in  is

Watch Video Solution

Ni(CO)4

23. Nitrito  is a didentate

ligand.

Watch Video Solution

(¯̄̄O − N = O)

24. Ethane-I,2-diamine is a didentate ligand.

https://dl.doubtnut.com/l/_WHeLEmQoffqE
https://dl.doubtnut.com/l/_dOFPEhcxbaKm
https://dl.doubtnut.com/l/_4KcAAsDcNooP
https://dl.doubtnut.com/l/_UR6Vk6VDwAex


Watch Video Solution

25. Vitamin  is a complex compound of ____

Watch Video Solution

B12

26. Write IUPAC name of .

Watch Video Solution

[Cr(H2O)6]Cl3

27. The oxidation number of cobalt in

 isK[Co(CO)4]

https://dl.doubtnut.com/l/_UR6Vk6VDwAex
https://dl.doubtnut.com/l/_yfIRozQcSR6l
https://dl.doubtnut.com/l/_2kMFvyra9dx6
https://dl.doubtnut.com/l/_7yVVUIadWQlx


Watch Video Solution

28. An aqueous solution of 

gives white precipitate of  with 

.

Watch Video Solution

[Pt(NH3)2Cl2]

AgCl

AgNO3(aq)

29. Explain the difference between a weak field

ligand and a strong field ligand.

Watch Video Solution

https://dl.doubtnut.com/l/_7yVVUIadWQlx
https://dl.doubtnut.com/l/_NnaSQoiWmVen
https://dl.doubtnut.com/l/_7gMWtAu7INuP


30. Chlorophyll contains chlorine.

Watch Video Solution

31. Onthe basis of valencebondtheory explain

the structure andmagnetic
 nature of

 complex ion.

Watch Video Solution

[Ni(CN)4]
2 −

https://dl.doubtnut.com/l/_7gMWtAu7INuP
https://dl.doubtnut.com/l/_AThJcenbzunx
https://dl.doubtnut.com/l/_NRDWsOdC3rM9


32. Explain the bonding in co-ordination

compounds in terms of Werner's postulates.

Watch Video Solution

33. Write two difference between double salt

and complex compound.

Watch Video Solution

https://dl.doubtnut.com/l/_tMgS5BsiN1ag
https://dl.doubtnut.com/l/_EeMQ1boaeZhn


34. explain with two examples each of the

following coordination entity, central atom or

ion ligands, coordination numbers , oxidation

number of central atom, homoleptic and

heteroleptic.

Watch Video Solution

35. What is meant by unidentate and

ambidentate ligands ? Give two examples for

each.

https://dl.doubtnut.com/l/_PpKgFMcKD4So
https://dl.doubtnut.com/l/_T6zIix7Fe8MG


Watch Video Solution

36. What are chelating ligands and chelates?

Watch Video Solution

37. Give IUPAC names of the following: 

Watch Video Solution

K4[Fe(C2O4)3]

https://dl.doubtnut.com/l/_T6zIix7Fe8MG
https://dl.doubtnut.com/l/_xQnN55rQvHJJ
https://dl.doubtnut.com/l/_Obkr849LexDf


38. Write the IUPAC name of ,

Watch Video Solution

Na[Au(CN)2]

39. Give IUPAC names of the following: 

Watch Video Solution

K2[Ni(CN)4]

40. Write IUPAC name of .

Watch Video Solution

K3[Fe(CN)6]

https://dl.doubtnut.com/l/_uAY9uHOIejkL
https://dl.doubtnut.com/l/_vjPtMnwZ24cA
https://dl.doubtnut.com/l/_AIJMDa12L7TH


41. Write the IUPAC name of the following : 

Watch Video Solution

K3[Fe(CN)5NO]

42. Write the IUPAC name of .

Watch Video Solution

K3[Cr(C2O4)3]

43. Write the IUPAC name of .[CoBr2(en)2]Cl

https://dl.doubtnut.com/l/_AIJMDa12L7TH
https://dl.doubtnut.com/l/_8S8kFBcbvB6P
https://dl.doubtnut.com/l/_M8pjpHjdZLz0
https://dl.doubtnut.com/l/_6BpJQl0u84q3


Watch Video Solution

44. Write IUPAC name of .

Watch Video Solution

[Cr(H2O)6]Cl3

45. Give IUPAC names of the following: 

Watch Video Solution

[Pt(NH3)2Cl2]

https://dl.doubtnut.com/l/_6BpJQl0u84q3
https://dl.doubtnut.com/l/_mGxgaiiptMaA
https://dl.doubtnut.com/l/_XhuBIwu9a0wE


46. Give IUPAC names of the following: 

Watch Video Solution

K[PtCl3(NH3)]

47. Give IUPAC names of the following: 

Watch Video Solution

[CoCl(NH3)5]Cl2

48. Write the IUPAC name of .K2[PtF6]

https://dl.doubtnut.com/l/_NODVkW5k8Se9
https://dl.doubtnut.com/l/_bZoldsVFwbbV
https://dl.doubtnut.com/l/_g5yncbiJpzhX


Watch Video Solution

49. Write the IUPAC name of the following: 

Watch Video Solution

[Ni(H2O)2(NH3)4]SO4

50. Write the IUPAC name of the following :

Watch Video Solution

Na3(Co(NO2)6]

https://dl.doubtnut.com/l/_g5yncbiJpzhX
https://dl.doubtnut.com/l/_DRjOlB54bCWb
https://dl.doubtnut.com/l/_zu3muRRmxp3b
https://dl.doubtnut.com/l/_7vnCpH2BaNx9


51. Write IUPAC name of `K_3 [Co(NO_3)_6].

Watch Video Solution

52. Write the IUPAC name of following : 

[Cr(NH_3)_3 (H_2O)_3]Cl_3`

Watch Video Solution

53. Write the IUPAC name of following : 

K[Ag(CN)2]

https://dl.doubtnut.com/l/_7vnCpH2BaNx9
https://dl.doubtnut.com/l/_VPD15uShaXQN
https://dl.doubtnut.com/l/_36QpCQg9TT5k


Watch Video Solution

54. Give IUPAC names of the following: 

Watch Video Solution

[Ni(H2O)2(NH3)4)SO4]

55. Write IUPAC name of :

.

Watch Video Solution

[PtCl(NO2)(NH3)4SO4

https://dl.doubtnut.com/l/_36QpCQg9TT5k
https://dl.doubtnut.com/l/_HXNgrWTRZcG2
https://dl.doubtnut.com/l/_YwkpaAWrjt36
https://dl.doubtnut.com/l/_SksP6bgXNEvj


56. Write IUPAC name of :

.

Watch Video Solution

[Cu(H2O)2(NH3)4]SO4

57. Define ionisation isomerism. Give example.

How can you distinguish between the two

isomers?

Watch Video Solution

https://dl.doubtnut.com/l/_SksP6bgXNEvj
https://dl.doubtnut.com/l/_7LOW0DWq3ISK


58. Define linkage isomerism and write one

linkage isomer of .

Watch Video Solution

[Co(ONO)(NH3)5]Cl2

59. write a note on 

Solvate isomerism

Watch Video Solution

https://dl.doubtnut.com/l/_rQZfoMM2c34u
https://dl.doubtnut.com/l/_CiyJM6kacq9k


60. Define co-ordination isomerism and write

one co-ordination isomer of :

.

Watch Video Solution

[Co(NH3)]6[Cr(CN)6]

61. Write a note on 

Geometrical isomerism.

Watch Video Solution

https://dl.doubtnut.com/l/_IP6vmoEhEI3V
https://dl.doubtnut.com/l/_xoxVxbXaa9ow


62. Define optical isomerism. Give one example

of optical isomers.

Watch Video Solution

63. Why is geometrical isomerism not possible

in tetrahedral compounds having two

different types of unidentate ligands with the

central metal ion ?

Watch Video Solution

https://dl.doubtnut.com/l/_CWyRfFDqVTGz
https://dl.doubtnut.com/l/_BrsymxsLXtmd
https://dl.doubtnut.com/l/_a2kCapdeMBbY


64. How many geometrical isomers are

possible in the following co-ordination

entities? 

Watch Video Solution

[Cr(C2O4)3]
3 −

65. How many geometrical isomers are

possible in the following co-ordination

entities? 

.

Watch Video Solution

[Co(NH3)3Cl3]

https://dl.doubtnut.com/l/_a2kCapdeMBbY
https://dl.doubtnut.com/l/_j6SAqtTvFacj


66. Discuss the main postulates of valence

bond theory.

Watch Video Solution

67. What are inner and outer orbital

complexes ?

Watch Video Solution

https://dl.doubtnut.com/l/_j6SAqtTvFacj
https://dl.doubtnut.com/l/_2H2f60TrA1RG
https://dl.doubtnut.com/l/_4WFhEmLLbGwO


68. On the basis of valence bond theory

explain the shape and magnetic character of

 or  ion.

Watch Video Solution

K4[Fe(CN)6] Fe(CN)6]
4 −

69. Onthe basis of valencebondtheory explain

the structure andmagnetic
 nature of

 complex ion.

Watch Video Solution

[Ni(CN)4]
2 −

https://dl.doubtnut.com/l/_3HGdr8VONaNq
https://dl.doubtnut.com/l/_t4b1CBFuIWxW
https://dl.doubtnut.com/l/_r6AhtDGz8dhX


70. How would you account for the fact that

 has tetrahedral geometry?

Watch Video Solution

Ni(CO)4

71. How does valence bond theory account for:

 is diamagnetic and tetrahedral

(At number of Ni = 28)

Watch Video Solution

[Ni(Cl4)]2 −

https://dl.doubtnut.com/l/_r6AhtDGz8dhX
https://dl.doubtnut.com/l/_JBoLWykr2y7a


72. Using valence bond theory of complexes,

explain the geometry and diamagnetic nature

of the ion . 


Given the atomic number of .

Watch Video Solution

[Cr(NH3)6]
3 +

Cr = 24

73. Discuss structure of  ion

the basis of V.B.T.

Watch Video Solution

[Co(NH3)6]
3 +

https://dl.doubtnut.com/l/_Oj6ptKEdqw2y
https://dl.doubtnut.com/l/_plZvOG8yFXTL
https://dl.doubtnut.com/l/_eAVsnvhk5xaE


74. Onthe basis of valence bond theory explain

the structure and magnetic nature of

`[Fe(CN)_6]^(3_) complex ion.

Watch Video Solution

75.  is low spin complex but

`[Fe(H_2O)6]+3is high spin complex. Explain.

Watch Video Solution

[Fe(CN)6]
− 3

https://dl.doubtnut.com/l/_eAVsnvhk5xaE
https://dl.doubtnut.com/l/_JEAKz0zR5W2w


76. Explain  is an inner orbital

complex whereas  is an outer

orbital complex.

Watch Video Solution

[Co(NH3)6]
3 +

[Ni(NH3)6]
2 +

77.  is paramagnetic while 

 is diamagnetic through both are

tetrahedral. Why?

Watch Video Solution

[NiCl4]2 −

[Ni(CO)4]

https://dl.doubtnut.com/l/_73qMD0aKlMj6
https://dl.doubtnut.com/l/_wUukchlgUZEj
https://dl.doubtnut.com/l/_sxS16ixaWCvB


78. A solution of  is green but a

solution of `[Ni(CN)_4]^(2-) is

colourless.Explain.

Watch Video Solution

[Ni(H2O)6]
2 +

79.  and  are

of different colours in dilute solutions. Why ?

Watch Video Solution

[Fe(CN)6)]
4 −

[Fe(H2O)6)]
2 +

https://dl.doubtnut.com/l/_sxS16ixaWCvB
https://dl.doubtnut.com/l/_A3SbST31G6Kc


80. Explain:  is diamagnetic

while  is paramagnetic.

Watch Video Solution

[Ni(CN)4]
2 −

[Ni(Cl)4]
2 −

81. Explain :  is diamagnetic

while  is paramagnetic.

Watch Video Solution

[Co(CN)6]
3 −

[CoF6]3 −

https://dl.doubtnut.com/l/_kLQfMRDH8utM
https://dl.doubtnut.com/l/_jKZxLsZGBLBS


82.  is coloured while 

 is colourless. Explain.

Watch Video Solution

[Ti(H2O)6]
3 +

[Sc(H2O)6]
3 +

83. What is the state of hybridisation and

geometry in ?

Watch Video Solution

[Cr(CO)6]

https://dl.doubtnut.com/l/_Av9QovuDguAZ
https://dl.doubtnut.com/l/_3zOyNjGzV3Qb


84. What is crystal field splitting ? How will you

account for the colour of compounds having

completely filled and empty d orbitals and

partially filled d orbitals ?

Watch Video Solution

85. Explain the difference between a weak field

ligand and a strong field ligand.

Watch Video Solution

https://dl.doubtnut.com/l/_IURANul0dd0n
https://dl.doubtnut.com/l/_kr94jrNtKk9A
https://dl.doubtnut.com/l/_CABz7EMwtxzD


86. Discuss the nature of bonding in metal

carbonyls.

Watch Video Solution

87. What is meant by chelate effect? give an

example.

Watch Video Solution

https://dl.doubtnut.com/l/_CABz7EMwtxzD
https://dl.doubtnut.com/l/_ShTraIejFjaP


88. Discuss briefly giving an example in each

case the role of coordination compounds in. 

biological systems.

Watch Video Solution

89. Discuss briefly giving an example in each

case the role of coordination compounds in. 

analytical chemistry.

Watch Video Solution

https://dl.doubtnut.com/l/_y1zysVt61inC
https://dl.doubtnut.com/l/_ITR1fvv4Z4LV
https://dl.doubtnut.com/l/_X7f43TS7NhMM


90. Discuss briefly giving an example in each

case the role of coordination compounds in. 

medicinal chemistry.

Watch Video Solution

91. Discuss briefly giving an example in each

case the role of coordination compounds in. 

extraction/metallurgy of metals.

Watch Video Solution

https://dl.doubtnut.com/l/_X7f43TS7NhMM
https://dl.doubtnut.com/l/_8pAtxqiuKukd
https://dl.doubtnut.com/l/_wlbRzNBt6gqc


92. The correct structure of  is

A. octahedral

B. tetrahedral

C. square pyramidal

D. trigonal bipyramidal

Answer: A

Watch Video Solution

Fe(CO)5

93. Which of the following has magnesium?

https://dl.doubtnut.com/l/_wlbRzNBt6gqc
https://dl.doubtnut.com/l/_U0voTCBCMLYh


A. ChlorophyII

B. Haemocyanin

C. Carbonic anhydrase

D. Vitamin B_12

Answer: A

Watch Video Solution

94. Which of the following shall form an

octahedral complex?

https://dl.doubtnut.com/l/_U0voTCBCMLYh
https://dl.doubtnut.com/l/_RYi2BD5OYFaP


A.  (low spin)

B. d^8` (high spin)

C.  (low spin)

D. all of these

Answer: C

Watch Video Solution

d4

d6

95.  is a

A. double salt

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_RYi2BD5OYFaP
https://dl.doubtnut.com/l/_N1xoZ5QPGNTw


B. complex compound

C. neutral molecule

D. none of these

Answer: B

Watch Video Solution

96. The oxidation state of  in the complex 

 is _____

A. 1

Cr

[Cr(H2O)4Cl2]
+

https://dl.doubtnut.com/l/_N1xoZ5QPGNTw
https://dl.doubtnut.com/l/_4CAKLoEZxd7S


B. 3

C. 5

D. 6

Answer: B

Watch Video Solution

97. Which of the following is expected to be a

paramagnetic complex?

A. [Ni(H2O)6]
2 +

https://dl.doubtnut.com/l/_4CAKLoEZxd7S
https://dl.doubtnut.com/l/_DXa0welRLmht


B. 

C. 

D. 

Answer: A

Watch Video Solution

[Ni(CO)4]

[Zn(NH3)4]
2 +

[Co(NH3)6]
3 +

98.  is paramagnetic in nature

due to

A. one unpaired electron

[Ti(H2O)6]3 +

https://dl.doubtnut.com/l/_DXa0welRLmht
https://dl.doubtnut.com/l/_C9LbhGIotU8i


B. two unpaired electrons

C. three unpaired electrons

D. no unpaired electrons

Answer: A

Watch Video Solution

99. The number of unpaired electron in

is

A. 0

[Ni(CO)2]

https://dl.doubtnut.com/l/_C9LbhGIotU8i
https://dl.doubtnut.com/l/_fmaQyL0Pw2Xb


B. 1

C. 3

D. 4

Answer: A

Watch Video Solution

100. The species having tetrahedral shape is:

A. 

B. 

[PdCl4]2 −

[Ni(CN)4]
2 −

https://dl.doubtnut.com/l/_fmaQyL0Pw2Xb
https://dl.doubtnut.com/l/_0y9oAIGtzMhS


C. 

D. .

Answer: D

Watch Video Solution

[Pb(CN)4]
2 −

[NiCl4]2 −

101. Which of the following forms with an

excess of ions, a complex having co-

ordination number two?

A. 

CN −

Cu+

https://dl.doubtnut.com/l/_0y9oAIGtzMhS
https://dl.doubtnut.com/l/_ikkD0jnh5XMj


B. 

C. 

D. 

Answer: B

Watch Video Solution

Ag+

Ni2 +

Fe2 +

102. The oxidation number of cobalt in

 is

A. 1

K[Co(CO)4]

https://dl.doubtnut.com/l/_ikkD0jnh5XMj
https://dl.doubtnut.com/l/_iuHZk7LD8zV3


B. -1

C. 3

D. -3

Answer: B

Watch Video Solution

103. Vitamine  contains

A. 

B. 

B12

Fe

Co

https://dl.doubtnut.com/l/_iuHZk7LD8zV3
https://dl.doubtnut.com/l/_SyYbhQ884zRc


C. 

D. 

Answer: B

Watch Video Solution

Zn

Ca

104. Write the IUPAC name of

.

A. potassium pentacyanonitrosy1-ferrare

(II)

K3[Fe(CN)5NO]

https://dl.doubtnut.com/l/_SyYbhQ884zRc
https://dl.doubtnut.com/l/_yeuDSBL7jxkA


B. potassium pentacyanonitrile(II)

C. potassium pentacyanonitrosyl-ferrate(III)

D. None of these

Answer: A

Watch Video Solution

105. Write the I.U.P.A.C. name of the

.

A. triamminedichloridonitrito-N-cobalt(III)

[Co(NH3)3Cl2(NO2)]

https://dl.doubtnut.com/l/_yeuDSBL7jxkA
https://dl.doubtnut.com/l/_9ZigmaKETcV9


B. dichlorotriamminenitrito-N-cobalt(III)

C. dichlorotriamminenitrito-N-cobalt(II)

D. None of these

Answer: A

Watch Video Solution

106. Write the IUPAC name of .

A. potassium tetracyanonickelate(II)

B. potassium tetracyanonickelate(III)

K2[Ni(CN)4]

https://dl.doubtnut.com/l/_9ZigmaKETcV9
https://dl.doubtnut.com/l/_IylekJQPN0tS


C. potassium tetracyanonickelate(0)

D. None of these

Answer: A

Watch Video Solution

107. The correct IUPAC name of

 is:

A. diamminedichloridoplatinum(II)

B. diamminedichloridoplatinum(IV)

[Pt(NH3)2Cl2]

https://dl.doubtnut.com/l/_IylekJQPN0tS
https://dl.doubtnut.com/l/_yb9dYMKTJkyF


C. diamminedichloridoplatinum(0)

D. chloridodiammineplatinum(IV)

Answer:

Watch Video Solution

108. In which of the following complexes, the

metal ion is in zero oxidation state ?

A. 

B. 

Mn(CO)4

Zn2[Fe(CN)6]

https://dl.doubtnut.com/l/_yb9dYMKTJkyF
https://dl.doubtnut.com/l/_ZJ9TubVfcPa5


C. 

D. 

Answer: A

Watch Video Solution

[Cu((NH3)4]Cl2

[Ag(NH3)2]Cl

109. The oxidation number of iron in

 is :

A. 

B. 

K4[Fe(CN)6]

+1

+2

https://dl.doubtnut.com/l/_ZJ9TubVfcPa5
https://dl.doubtnut.com/l/_RoUpihsqwZ37


C. 

D. Zero

Answer: B

Watch Video Solution

+3

110. Vitamine  contains

A. 

B. 

C. 

B12

Cu

Co

Fe

https://dl.doubtnut.com/l/_RoUpihsqwZ37
https://dl.doubtnut.com/l/_12iyyeyZkD71


D. 

Answer: B

Watch Video Solution

Ni

111. Chlorophyll contains

A. 

B. 

C. 

D. 

Co

Mg

Fe

Ni

https://dl.doubtnut.com/l/_12iyyeyZkD71
https://dl.doubtnut.com/l/_pNzlmjiQpp8O


Answer: B

Watch Video Solution

112. Haemoglobin contains:

A. 

B. 

C. 

D. 

Answer: C

Cu

Co

Fe

Ni

https://dl.doubtnut.com/l/_pNzlmjiQpp8O
https://dl.doubtnut.com/l/_AR7YPVvqzrJt


Watch Video Solution

113. T/F The O.S. of Ni in  is four.

Watch Video Solution

Ni(CO)4

114. Nitrito  of a ambidentate

ligand.

Watch Video Solution

(¯̄̄O − N = O)

https://dl.doubtnut.com/l/_AR7YPVvqzrJt
https://dl.doubtnut.com/l/_iG0BF0F0wThG
https://dl.doubtnut.com/l/_6cdj8msNXWFg


115. Ethane-I,2-diamine is a didentate ligand.

Watch Video Solution

116. Vitamin  is a complex compound of ____

Watch Video Solution

B12

117. The oxidation state of  in the complex 

 is _____

Watch Video Solution

Cr

[Cr(H2O)4Cl2]
+

https://dl.doubtnut.com/l/_VSgNsnpjw2eN
https://dl.doubtnut.com/l/_hRqVwvqw5oam
https://dl.doubtnut.com/l/_qjlbwltsduLN


118. The oxidation number of cobalt in

 is

Watch Video Solution

K[Co(CO)4]

119. An aqueous solution of 

gives white precipitate of  with 

.

Watch Video Solution

[Pt(NH3)2Cl2]

AgCl

AgNO3(aq)

https://dl.doubtnut.com/l/_qjlbwltsduLN
https://dl.doubtnut.com/l/_duGqzY3UrQrF
https://dl.doubtnut.com/l/_8T9SgPAUCO9V
https://dl.doubtnut.com/l/_UWnwVHq9cq8j


120. T/F
 Carbon monoxide is a weak field

ligand.

Watch Video Solution

121. Chlorophyll contains

Watch Video Solution

122. Onthe basis of valencebondtheory explain

the structure andmagnetic
 nature of

https://dl.doubtnut.com/l/_UWnwVHq9cq8j
https://dl.doubtnut.com/l/_CnbKAML1buII
https://dl.doubtnut.com/l/_lK7h2cZfdLOl


 complex ion.

Watch Video Solution

[Ni(CN)4]
2 −

123. Explain the bonding in co-ordination

compounds in terms of Werner's theory.

Watch Video Solution

124. Write two difference between double salt

and complex compound.

Watch Video Solution

https://dl.doubtnut.com/l/_lK7h2cZfdLOl
https://dl.doubtnut.com/l/_NcdFACTZwV96
https://dl.doubtnut.com/l/_LKIDQ2QnpRSW


125. explain with two examples each of the

following coordination entity, central atom or

ion ligands, coordination numbers,

coordination sphere, coordination polyhedron,

oxidation number of central atom, homoleptic

and heteroleptic.

Watch Video Solution

https://dl.doubtnut.com/l/_LKIDQ2QnpRSW
https://dl.doubtnut.com/l/_pI73AJTqUQ13


126. What is meant by unidentate and

ambidentate ligands ? Give two examples for

each.

Watch Video Solution

127. What are chelating ligands and chelates?

Watch Video Solution

128. Write the IUPAC name of .K3[Fe(C2O4)3]

https://dl.doubtnut.com/l/_FY6otwq6fJw9
https://dl.doubtnut.com/l/_gp9jIq0PThE1
https://dl.doubtnut.com/l/_q4Ycns2PG96U


Watch Video Solution

129. Write the IUPAC name of ,

Watch Video Solution

Na[Au(CN)2]

130. Write the IUPAC name of .

Watch Video Solution

K2[Ni(CN)4]

131. Write IUPAC name of .K3[Fe(CN)6]

https://dl.doubtnut.com/l/_q4Ycns2PG96U
https://dl.doubtnut.com/l/_kG5jlCUNqqz5
https://dl.doubtnut.com/l/_2nbN42X00Q1x
https://dl.doubtnut.com/l/_yg3prQNaeiE4


Watch Video Solution

132. Write the IUPAC name of the following : 

Watch Video Solution

K3[Fe(CN)5NO]

133. Write the IUPAC name of .

Watch Video Solution

K3[Cr(C2O4)3]

https://dl.doubtnut.com/l/_yg3prQNaeiE4
https://dl.doubtnut.com/l/_ZmrfXAh7XbJk
https://dl.doubtnut.com/l/_OL59u98qOEwi


134. Write the IUPAC name of 

.

Watch Video Solution

[CoBr2(en)2]Cl

135. Write IUPAC name of .

Watch Video Solution

[Cr(H2O)6]Cl3

136. The correct IUPAC name of

 is:[Pt(NH3)2Cl2]

https://dl.doubtnut.com/l/_Jf0XuVFknlLp
https://dl.doubtnut.com/l/_Q3XDV7TRQo7M
https://dl.doubtnut.com/l/_ej0KmSol4Osj


Watch Video Solution

137. Write the IUPAC name of 

Watch Video Solution

K[PtCl3(NH3)]

138. Write the IUPAC name of

.

Watch Video Solution

[CoCl(NH3)5]Cl2

https://dl.doubtnut.com/l/_ej0KmSol4Osj
https://dl.doubtnut.com/l/_mOxQTpQmT9b2
https://dl.doubtnut.com/l/_fUyN46htZbXr


139. Write the IUPAC name of .

Watch Video Solution

K2[PtF6]

140. Write the IUPAC name of the following: 

Watch Video Solution

[Ni(H2O)2(NH3)4]SO4

141. Write the IUPAC name of the following :

Na3(Co(NO2)6]

https://dl.doubtnut.com/l/_XS6Zf8Nv5Amx
https://dl.doubtnut.com/l/_BwjSQFW6ln8M
https://dl.doubtnut.com/l/_rHHTCywI9ebH


Watch Video Solution

142. Write IUPAC name of `K_3 [Co(NO_3)_6].

Watch Video Solution

143. Write the IUPAC name of following : 

[Cr(NH_3)_3 (H_2O)_3]Cl_3`

Watch Video Solution

https://dl.doubtnut.com/l/_rHHTCywI9ebH
https://dl.doubtnut.com/l/_9JS5p1dNqyiJ
https://dl.doubtnut.com/l/_W4gbc2X3mLwL


144. Write the IUPAC name of following : 

Watch Video Solution

K[Ag(CN)2]

145. Write the IUPAC name of the following: 

Watch Video Solution

[Ni(H2O)2(NH3)4]SO4

https://dl.doubtnut.com/l/_tpTwXrS11sZ7
https://dl.doubtnut.com/l/_ftbO6YeR3Gwl


146. Write IUPAC name of :

.

Watch Video Solution

[PtCl(NO2)(NH3)4SO4

147. Write IUPAC name of :

.

Watch Video Solution

[Cu(H2O)2(NH3)4]SO4

https://dl.doubtnut.com/l/_9ZB5htedR67w
https://dl.doubtnut.com/l/_VznDuoSD5zd3


148. Define ionisation isomerism and write one

ionisation isomer of : .

Watch Video Solution

[CoSO4(NH3)5]Br

149. Write a short note on linkage isomerism.

Watch Video Solution

150. write a note on 

Solvate isomerism

https://dl.doubtnut.com/l/_nsE3ZWbMeUVx
https://dl.doubtnut.com/l/_Bs0x3lIgA0ue
https://dl.doubtnut.com/l/_85NmrrcrxxWD


Watch Video Solution

151. write a note on 

Co-ordinate isomeism.

Watch Video Solution

152. Write a note on 

Geometrical isomerism.

Watch Video Solution

https://dl.doubtnut.com/l/_85NmrrcrxxWD
https://dl.doubtnut.com/l/_RbddVXH3rFqp
https://dl.doubtnut.com/l/_RmaArNSghBDp
https://dl.doubtnut.com/l/_c6cxiq5RfDD5


153. Define optical isomerism. Give one

example of optical isomers.

Watch Video Solution

154. Why is geometrical isomerism not

possible in tetrahedral compounds having two

different types of unidentate ligands with the

central metal ion ?

Watch Video Solution

https://dl.doubtnut.com/l/_c6cxiq5RfDD5
https://dl.doubtnut.com/l/_JLUcWK5LID6r
https://dl.doubtnut.com/l/_rAl4I8nVaRq4


155. How many geometrical isomers are

possible in the following co-ordination

entities? 

Watch Video Solution

[Cr(C2O4)3]
3 −

156. How many geometrical isomers are

possible in the following co-ordination

entities? 

.

Watch Video Solution

[Co(NH3)3Cl3]

https://dl.doubtnut.com/l/_rAl4I8nVaRq4
https://dl.doubtnut.com/l/_LyTWDutgeZeK


157. Discuss the main postulates of valence

bond theory.

Watch Video Solution

158. What are inner and outer orbital

complexes ?

Watch Video Solution

https://dl.doubtnut.com/l/_LyTWDutgeZeK
https://dl.doubtnut.com/l/_aSPKlHoiwxVi
https://dl.doubtnut.com/l/_rPnmzwoZtee5


159. Explain magnetic Behaviour of

 and  anions.

Watch Video Solution

[Fe(CN)6]
4 −

[Fe(CN)6]
3 −

160. Onthe basis of valencebondtheory explain

the structure andmagnetic
 nature of

 complex ion.

Watch Video Solution

[Ni(CN)4]
2 −

https://dl.doubtnut.com/l/_oiYEFeMcajh5
https://dl.doubtnut.com/l/_Vkhz3uFfcKkx


161. How does valence bond theory account

for:  is diamagnetic tetrahedral

(At number of Ni= 28)

Watch Video Solution

[Ni(CO)4]
− 2

162. How does valence bond theory account

for:  is diamagnetic and

tetrahedral (At number of Ni = 28)

Watch Video Solution

[Ni(Cl4)]2 −

https://dl.doubtnut.com/l/_6GPet7CpMZ0X
https://dl.doubtnut.com/l/_QO5q2pqcog1h
https://dl.doubtnut.com/l/_LdKLGRZl6BXC


163. Using valence bond theory of complexes,

explain the geometry and diamagnetic nature

of the ion . 


Given the atomic number of .

Watch Video Solution

[Cr(NH3)6]
3 +

Cr = 24

164. Discuss structure of  ion

the basis of V.B.T.

Watch Video Solution

[Co(NH3)6]
3 +

https://dl.doubtnut.com/l/_LdKLGRZl6BXC
https://dl.doubtnut.com/l/_jUS8aam5d4Js
https://dl.doubtnut.com/l/_BBA2824SNBUV


165. Onthe basis of valence bond theory

explain the structure and magnetic nature of

`[Fe(CN)_6]^(3_) complex ion.

Watch Video Solution

166.  is low spin complex but

`[Fe(H_2O)6]+3is high spin complex. Explain.

Watch Video Solution

[Fe(CN)6]
− 3

https://dl.doubtnut.com/l/_BBA2824SNBUV
https://dl.doubtnut.com/l/_9ogJ3AOlX6pc


167. Explain  is an inner orbital

complex whereas  is an outer

orbital complex.

Watch Video Solution

[Co(NH3)6]
3 +

[Ni(NH3)6]
2 +

168.  is paramagnetic while 

 is diamagnetic through both are

tetrahedral. Why?

Watch Video Solution

[NiCl4]2 −

[Ni(CO)4]

https://dl.doubtnut.com/l/_DEkx6mbiqXDo
https://dl.doubtnut.com/l/_nnOf0UAp5CCK
https://dl.doubtnut.com/l/_37HC8gjcCips


169. A solution of  is green but

a solution of `[Ni(CN)_4]^(2-) is

colourless.Explain.

Watch Video Solution

[Ni(H2O)6]
2 +

170.  and  are

of different colours in dilute solutions. Why ?

Watch Video Solution

[Fe(CN)6)]
4 −

[Fe(H2O)6)]
2 +

https://dl.doubtnut.com/l/_37HC8gjcCips
https://dl.doubtnut.com/l/_qgiwStN3HGCM


171. Explain:  is diamagnetic

while  is paramagnetic.

Watch Video Solution

[Ni(CN)4]
2 −

[Ni(Cl)4]
2 −

172. Explain :  is diamagnetic

while  is paramagnetic.

Watch Video Solution

[Co(CN)6]
3 −

[CoF6]3 −

https://dl.doubtnut.com/l/_WCk04CClNV27
https://dl.doubtnut.com/l/_oBTPfxVAvs1E


173.  is coloured while 

 is colourless. Explain.

Watch Video Solution

[Ti(H2O)6]
3 +

[Sc(H2O)6]
3 +

174. What is the state of hybridisation and

geometry in ?

Watch Video Solution

[Cr(CO)6]

https://dl.doubtnut.com/l/_baKWZXPzIrFS
https://dl.doubtnut.com/l/_UqVimRz2Wqkc


175. What is crystal field splitting ? How will

you account for the colour of compounds

having completely filled and empty d orbitals

and partially filled d orbitals ?

Watch Video Solution

176. Explain the difference between a weak

field ligand and a strong field ligand.

Watch Video Solution

https://dl.doubtnut.com/l/_PsXPNW3zvBly
https://dl.doubtnut.com/l/_SBgGaP8XuzG4
https://dl.doubtnut.com/l/_EqXxDLXlZbka


177. Discuss the nature of bonding in metal

carbonyls.

Watch Video Solution

178. What is meant by chelate effect? give an

example.

Watch Video Solution

https://dl.doubtnut.com/l/_EqXxDLXlZbka
https://dl.doubtnut.com/l/_F8OufmbLQgQ5


179. Discuss briefly giving an example in each

case the role of coordination compounds in. 

biological systems.

Watch Video Solution

180. Discuss briefly giving an example in each

case the role of coordination compounds in. 

extraction/metallurgy of metals.

Watch Video Solution

https://dl.doubtnut.com/l/_G3SnVn0JJyWe
https://dl.doubtnut.com/l/_5MZ8eURK2pLN
https://dl.doubtnut.com/l/_bLP8OppmtTkT


181. Discuss briefly giving an example in each

case the role of coordination compounds in. 

medicinal chemistry.

Watch Video Solution

182. Discuss briefly giving an example in each

case the role of coordination compounds in. 

extraction/metallurgy of metals.

Watch Video Solution

https://dl.doubtnut.com/l/_bLP8OppmtTkT
https://dl.doubtnut.com/l/_vnDtyNJmlpRE

